That Doesn’t Make Sense
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Huh? That doesn't make sense.
Why should it be cheaper to buy
them individually?

hey are $1.00 each or
0.00 for a box of 5
,
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	A: How much are the apples?
B: They are $1.00 each or $10.00 for a box of 5.
A: Hmm. That doesn’t make sense. Why should it be cheaper to buy them individually?

	

	Here are the prices of some goods at a store. Use these prices to practice the conversation above.


	Steaks

$2 per lb

$6 per kg
	Apple Juice

$2.50 for a small bottle
$2.00 for a large bottle
	Donuts

$0.50 each

$7.00 per dozen

	

	Fish

$3 per lb frozen
$2.50 per lb fresh
	Bananas
$3.00 per lb

$2.50 per kg
	Beer 
$1.50 per can.

$10.25 for a six-pack


What are some things that don’t make sense to you?

Ex) I don’t understand why more people don’t take public transportation. It’s cheaper, safer, and better for the environment.
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